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MEA % | KFXITE ¥ Hh & H#h X £ AR () e
HTE N BT A NG 17—2 £l 1,040 R16.10.31
HTEINFET A Bith 154—2 E¥c] 412 R16.10.31
HATEINFET Al Ai 200 E¥c] 2,161| R16.10.31
H LN BT A HITH 201 E3C) 2,929 R16.10.31
H LN BT A I\ 250—4 E3C) 4,933| R16.10.31
H LN BT A AU 252—1 £l 1,876 R16.10.31
FTE D+ ET HiE #®HEP [ 1311 &g 514 R16.10.31
FTE NG+ ET Hig ®HEH 132 £ig 42| R16.10.31
FTE NG+ BT Hig #%HE$ | 133—1 £ig 474| R16.10.31
FTE NG+ BT Hig #%HEH | 157—3 &g 993| R16.10.31
FTEINFHBT RiE #HES | 164—1 &g 865| R16.10.31
FTE NG+ BT Hig #%HEDB | 194—1 £ig 452| R16.10.31
H LN ET RIg IR 325 2l 1,047| R16.10.31
HTE DN ET RIE R 382 £l 985| R16.10.31
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FIEINFHBT RiE HR 385 £l 1,005 R16.10.31
FIE NG+ BT HIE HH 687—1 E3C] 900| R16.10.31
FIEINFHBT RiE HM 687 —2 &g 1,238| R16.10.31
FTE D+ ET HiE B 687—3 &g 353 R16.10.31
FIEINFHBT RiE ER 1197 —1 &g 915| R16.10.31
FTEINFBT Hig ER | 1197—-7 | £ 185| R16.10.31
FIE NG HT g ot 1356 2l 281| R16.10.31
FIE NG+ BT HIE = 1357 E3C) 306/ R16.10.31




